CHALLENGE 31: Subtracting 3-digit numbers from 3-digit numbers

Suggested Strategy:

1. Partition the second number only into hundreds, tens and units. Then subtract the
hundreds number, then subtract the tens number and then subtract the units

number.

351-125= 573 -216 = 332-117 =

662 - 115 = 335 - 216 = 451-124 =
627 - 218 = 463 - 117 = 747 - 426 =
685 - 312 = 566 - 332 = 553 - 241 =
479 - 222 = 657 - 434 = 967 - 428 =
567 -316 = 771-522 = 463 - 318 =
749 + 422 = 567 - 128 = 655 - 231 =
628 - 435 = 465 - 227 = 867 - 425 =
556 - 317 = 245 - 136 = 563 - 327 =
549 - 124 = 875 -316 = 653 -325 =
356 - 133 = 876 - 348 = 545 - 227 =
669 - 424 = 625 -118 = 375 - 129 =
563 -325 = 437 - 115 = 674 - 418 =
652 - 338 = 565 - 222 = 594 - 338 =
575 - 322 = 986 -428 = 964 - 138 =
654 - 324 = 667 - 326 = 356 - 128 =




